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Messages sent by a process ____
can be fixed or variable sized

Process synchronization can be done on ______.

Select one:

both hardware and software level
Which one of the following is a synchronization tool?

Select one:

samaphore
Which of the following operations is provided by an IPC facility?

receive and send message

A monitor is a module that encapsulates ______

all of the options

Message passing system allows processes to ____

communicate with one another without resorting to shared data

Which of the following are TRUE for direct communication?

In indirect communication between processes P and Q ____

Select one:

there is a mailbox to help communication between P and Q

A communication link can be associated with exactly two processes

Interprocess communication allows ____
processes to communicate and synchronize their actions without using the same 
address space
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To enable a process to wait within the monitor, ____

Select one:

a condition variable must be declared as condition

To enable a process to wait within the monitor, ____

Select one:

a condition variable must be declared as condition
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